Clamp & Hardware Placement Guide for P/N 9117F

917AFA

11/8” Clamp
8x20mm Button Head Bolt
8mm Flat Washer

“A” Clamp

8x30mm Button Head/ Bolt

8mm Flat Washer

917FBA

‘B” Clamp /;‘\

8x45mm Button Head Bolt
8mm Flat Washer\\g

@)

“C” Clamp
8x30mm Button Head Bolt
8mm Flat Washer

#833 Cupped Washer
6x30mm Hex Bolt
#700-47 Nut Plate

O

#833 Cupped Washer
6x25mm Hex Bolt
#700-47 Nut Plate

AHIARE 11/4” Clamp

8mm Flat Washer

“B” Clamp

8mm Flat Washer

917T

#833 Cupped Washer
6x16mm Flange Bolt

()

O

#833 Cupped Washer
6x16mm Flange Bolt

ZIX
)

#833 Cupped Washer
6x16mm Flange Bolt

#826 Clamp )
8x30mm Button Head Bolt
8mm Flat Washer

8x20mm Button Head Bolt

o— e

#833 Cupped Washer
6x16mm Flange Bolt

O
O

917R

> 8x20mm Button Head Bolt

917AFB

11/8” Clamp
8x20mm Button Head Bolt
8mm Flat Washer

“A” Clamp
8x30mm Button Head Bolt
mm Flat Washer 917FBB
“B” Clamp

8x45mm Button Head Bolt
8mm Flat Washer

J

@

“C” Clamp
8x30mm Button Head Bolt
8mm Flat Washer

#833 Cupped Wash
6x30mm Hex Bolt
#700-47 Nut Plate

917M2
overlaps OO/
917R
#833 Cupped Washer
6x25mm Hex Bolt
#700-47 Nut Plate
1 1/4” Clamp O AHREARE

8x20mm Button Heagd Bolt
8mm Flat Washer



